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Time : 3 hys, ] a Class X [ M-M..: 80

Gener aI In Structions—
(1)  The question Paper has 5 sections A, B, C,DandE.
(i) Section A has 20 MCQs carrying 1 mark each.
(iii) Section B has 5 questions carrying 2 marks each.
(1v) Section C has 6 questions carrying 3 marks each.

(v) Section D has 4 questions carrying 5 marks each.
(V1) Section E has 3 case based integrated units of assessment of 4 marks each with

sub parts of values of 1, 1 and 2 marks. - |
(Vu) All questlons are compulsory However, an mtemal cho1ce in 2 questions of 5
marks, 2 questions of 3 marks and 2 questlons of 2 marks has been provided. An

- internal choice has been prov1ded in the 2 marks questrons of Section E
| | ' 22
(viii)l Draw neat ﬁgures wherever requ1red Take = 7 Wherever requ1red ifnot stated :
. | SECTION-A N
Sectlon A consnsts of 20 questlons of 1 mark each—- ‘
~ Ifroots of quadratlc equation ax2+bx+c—0 a0 are real and equal then whichof

the following relation is correct

(a) a_b_ ‘ -» | (b) _bz-_'-a‘cv |
(C)'a'c=%- R () C:Z

%/The middle most observation of every data arranged in order is called




I 2]
<Ay Medinn
(dy Devintion
Jy AD s medion of AATVC with vertices A5, 0) 1300, 4) and C(0, 05, Vind A1)
(@) Jon units () 2./14 i

() J1o1 onits () 10 units

() Node
{¢) Mean

y 1 Al
A TOr% X, s, Wit respective frequencies £, 1, o, the value of '}_1(;{‘ U

s equal 1o ¢
() nx
(c) 0

(h) |

(dy 21,

57 Which of the following cquations hay 2
(n) %~ Ax15=(

(€) 2%y 6=()

Zasarool

(b) #4351

(dy 356520

‘f’/ Two AP's have same common difference, The first term of one of theys jo 1 and
that of other is 8. Then the difference between their A" ferpmg s :
(a) 1 - ~7
(c) 7 (y 9

‘} InAABC, DE[[BCIFAD =4 cm, Al =9 cin and AC = 1.5 cini then lenpth of 1.

(II‘)/ O ¢
(¢) 9em

(b) 7.5 ¢m
(d) 5.7 cm

| y The pair oflinear cquations A ZY¥ 50 and 3% = 6y-1 hay :

i () "“"‘l'l‘fﬂuluti(m

3 (b) two solutions
, .__F(g) Mfinitely many solutiony

(d) no solution

0/ i Wit et 005 gaisgibics o Vot S i sy,

JOZ M diagemals of a quadiilater

(%]

Vitienr copuntions by

s ’
7! /
() consistent vith unique solution
(hy consistent vith mmany wolition,
(G dntansintent
(dd) Incomsistent Vst can b tade crmiininsd V7Y sstenidyitig e

al divide each (Rtier geensmtienmly G o v

! weitys
(1) Varallelopram () Vedanye

(c) "Tragrsitinn (dy “wymee

p)/ Given HCY (2520, 6600) = 80, LM (2520, 64005y = 252 7 4 then vakue
(1) 1650 (by 1600
(c) 165 (dy 1625

{// inthe given figure, AKBC ~ KOV IS AC = 6 can, 350 = 5 ¢, G -

P = z; then the value of 7.,

X7
/'-T 7 CIfy (

W) 3.6 i
(¢ 10 ¢ (dy 3

(by 2.5 o
b2, A1y
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In a reacher \\nvk\h\\n the number of teache

s te .
caching Freneh, Hindi and Engligh ORr

arc 48, 80 and 144 respectiv elv. Fiy
& » 1d mi : <
nimum number of room required ifiy ¢ ach . Inthe given figure DE L OO 4na DF HOR, show that 1 10 O

room the same number of teachers are scated and all of them are of'same subject

8
* Fia ¢ ratio in which the point | —. y T .
7. Find the ratic ac p s divides the line segment joining the

points (1, 2) and (2. 3). Also find value of'y.

28 ifax*byv=a’-b"and bx+ay=0. Find value ofx+y_ K
\:92. dhe following iable shows the ages of patients admitted in a hospital during a 3 SECTION-D
Toyar— o ) Section D consists of 4 questions of 5 marks each.
Age (in years) umber of patients 32. The sum of first and eights terms of an AP is 32 and their product is 60. Find the
15 6 f iR ' first term and common difference of AP.
15-25 m ' \ OR
N&. 21 The sum of four consecutive numbers in AP is 32 and the ralio of the product of
25-35 . ?
35.45 23 first and last terms to the product of two middle terms is 7 - 15. Fiud the nurmbers.
45-55 ; 14 : ' ‘ 3}/The ratio of income of two friends Jasmine and Aman is 9 37 and ratio of their
55-65 t 5 : expenditure is 4 : 3. 1f each of them save Rs. 2000 per month find their monthl
- S . : incomes and savings.
Find the mode and mean of data. , A 1;1: it 6 & . ortiofxa\ity o
5 € DAs1IC Pro :
.:0 Find the zeroes of polynorrual 4x*+4x-3 and venfy the relatlonshlp oetween zeroes 3;/ ate and prov prop
, : : OR
P isipoedhicicats, L : In the given figure PA, QB and RC are each perpendicular to AC. 1f AP =x, T
//In given figure, oS = PR and Z1=2/2 S yand CR= ZtheanGVE“‘*';:; "
Show that APQS ~ ATQR T -
P
1 2
Q g

B i
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i 35 Class Interval Frequency [T rp— '
0-10 10 > (i) which pumber is on first spot? ;
10-20 1 20 (ii) Which spotis numbered as 1127 <
20-30 “ OR
30-40 40 What is the sum of 211 numbers on the first 10 5pots 7
40-50 : o b i (iii) Which number is on (n—2) spot? B
50-60 . : 25 /R yan from avery younzg age, was {25 scinated by W inkling of s1ars znd VaAsSINeYS 1)?
60-70 : 5 i 15 - space. He always dreamt of becoming 28 astronzut one ¢aY- Qo he staned 1o skech
Median =35, Zf =170 ) his own rocket designs. One such design is
0] What is median ¢12ss ofdata? , I — | - { T ‘r";—‘i—"r’!

(ii) What is sum of missing ﬁ'equencxes 7 ’ | . ——’——v—““J;—'T—’_T | H

(iii) Find mknovmﬁequmms : > ; 3 M \ 1 ._\; ) “

SECTION-E e = 7 — 3

Section E consists of 3 guestions of 4 marks each.
36, A rectangular floor 2re2 can be completely tiled with 200 Squan? tiles. If side »
Jength of cach tile is increased by 1 unit, i would take only 128 tiles to cover the ,
floor. N
(i) Ammﬁngthcozwnzllmgb ofacbszdeofmcnlcbexunﬂs makeaquz;drauc f
equation from above information. : : D 3
(ii) Write degree of quadratic equation. o el | b
(iii) Find vzlue of . Ieﬂgtbafﬂdeofatﬂebyﬁactonsatwn. S e I o2 '

OR
g Solve the quadratic equation for x using quadratic formula.
casure hunt is 4an exciti z : ici
f e l’@faﬂd‘dthenﬁIfous game where participants follow 4 (ii) Whatis the distance be
iy mizps to discover hidden treasures while playing atreasure ‘ ; g
ome numbers are hidden in variodsspots collecuvely forming an A y =
anAPp,

][ ”U/ﬂb(,

75 on nith spot is 20+4 Find the coordinates which divi
playe n then answer the foll - ates which divides the line s et s
, Yers in spotting clues : olowicg questions to help 1 : 3 internally, ¢ line segment joining A and Bin

Based on the above answer the following :

(i) Find the mid point of line segment joining F and G

\5 (iii) What are coordinates of D and B 7




